

Townhouse in Mosta



Mosta, Central



€426,000

Reference No: 240151131-129

 Total Rooms: 4

 Floor Area (m²) : 62

 Bathrooms: 2

 Bedrooms: 1

Townhouse - For Sale - Mosta

Mosta - Furnished townhouse consisting of an open plan kitchen/ living/ dining, main bathroom and a small internal yard. On the second floor, there is an open area used as a living room, along with an additional bathroom and a bedroom. Freehold

Features

- ✓ Kitchen/Dinette
- ✓ Electricity Utility
- ✓ Back Yard
- ✓ Entrance Hall
- ✓ A/C

Rooms

- ✓ Kitchen/Living/Dining : 9.8 x 3.12 m (30.58 m²)
- ✓ Bathroom : 1.92 x 1.21 m (2.32 m²)
- ✓ Open Space : 1.97 x 1.36 m (2.68 m²)
- ✓ Open Space : 5.85 x 3.26 m (19.07 m²)
- ✓ Bathroom : 1.97 x 1.26 m (2.48 m²)
- ✓ Double Bedroom : 3.35 x 1.26 m (4.22 m²)

Gallery







Nicole Cauchi

RE/MAX Edge - Attard

M: 99396620

E: ncauchi@remax.com.mt

T: 21480164

RE/MAX Edge - Attard

4Triq Antonio Schembri, Attard, Malta